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T 48,000 | JEE D 4151 D 20% 9,600
R 21,000 | A= EBET A (L=170m, @6m)  170m/6m=28F&FT EA: 28f&FT X 9mi /A< 252
Im:@10m 4000 X 0.57/90m=25f AT FiA : 256 AT X 9ni /A X 24K =450t
SRS 1000 4000mt X 0.57/90 =25 FT KA : 26647 X 6 nf / i 7 = 150 nd L o32
AT R A 6. Tm: @6m  4000nf X 0.34/40.2nf=33 A1 @A 33T X 9nt/ A =297 nd ’
4m:@6m  4000nt X 0.09/24 =15 AT A 15f T X 9nd /A =135
S ER=(2860 11 X 0.4+19901m X 0.7)/4850=52% =50%
ok i=4850nd X 0.5=2425n1
NE| 4,850 @A (100t 1 214%) : 2425 nd /10 nd X 9nd /A=2182nd 6,062
R (A 121AR) 12425 /4m X 4ni/AR=2425nd
TR Gk oo60%, 445/ nd) 12425 X 0.6 X 1 mi=1455nm
2T 150
Al 78,000 16,946 21.7
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